HsBHED2 (5355 1IN './\ 4 gl
o | he 4 = A

E%E%AﬁéﬁﬁﬁwﬁﬁL@Téﬁmmﬁﬂm%3%%1EOEEL_

| BHRBAMEDHT

BERL A Ere

BETEMRIEAES GBR)

S/ kwakvﬂ&bi#

WAl |
B S = B ,
SEEERSHHE 560,000
[l o
- =\ B B .
1 HEWER 0
2 B & B 48313 [
'3_'}1‘ w & 66,706 [ -
4 5 B B o[
5 & B R oM
6, EEHERE oM
T EREAR 1324 [
8 A # B ol
9 T B ik 153,809
10 F B B 15740 [ -
= E 285,892 [
C [EBleE) | a
| 274108 § |




.‘ H5 et Ak (3451 EHER)

N N T VN

w ~ &~ 9 R «w M~ O

~
~0

L
Q

.fgﬁ B | "i‘tﬂgﬁ-‘fﬁg‘ N Mmm*j
%msiﬁﬁﬂisa | ; 27;500 9.. $¥§Fﬁ‘§§¥4 | | |
SF3E2ANE | 18| 10 [HUUR
SH3E12A218 | . '27',50'0 9 $¥§FE‘§§¥4 ]
:%ifusmzﬁzm 8503 | 9 |1ouk
SmsE2A2E| g8 9 5{(_)@'&
%aijuémzﬁlzm‘“ 1,605 10 vk B

| S#ssE12327H 125000 3 [DMIEACEEE Rt
SR H3H 39249 | 3 - EAEEER

£H44F1 A5H | 1,_324" 7 " %E%}?\%
&HuE1ATE 630 3 liﬁéilsﬁf\f'
ARMEIASE 1,740 10 [HYuR
:%gj#;;éﬂ-ﬁma’ 60| 10 |EEBEe
SHMEI A 1B 20| 10 BERHE
~f%$ﬂ4ﬁ51}é165' i,2§1 ‘ 0 . ﬁy.')")f&.
4rF44E1 5168 %0 10 sﬁ%ﬁﬁ
SH4EIR17E | o 1,575 3 |gptemmn
%mﬁmﬁ'zéﬂa 27,500 9 9%?%@?%?14
4441278 '25_2 3 lgEro

| %@@gzgza 1,000 10 AUk
SRut2A12A | ‘1,340_ o |BEBIKENS




H5 B B (53 AH LR

Sf4%E3A31H

£ AR | xwmHE gg - BEHMER
3/ SfatE2H13E | 700 10 E{Ei%ﬂﬁ
55 | SFas2R 198 1000 10 HIUDAR |
53 %mfﬁzﬁzzé- o7500| 9 $§;ﬁﬁ*§gﬁ |
. ;4 $TUiEafsE 40| 10 szgé_tgﬂﬁ -
NS SH44E3A9E 10| 10 [HvusK
4v>.é 4#4sE3H118 200 10 ﬁﬁi&%ﬁﬁ
, >7 %#ﬁﬁi—:sﬁhsa 1;562 9 %ﬁﬁﬁmﬁﬂﬁ
><P £H44E3A21 B 1,250 16_ ﬁVU‘J_ﬂ’:';‘
f>7 %ﬁumﬁna  %3.9f EHMEAR
20 %imﬁsﬁézs '334 9 Eﬁj?ﬁ%ﬁﬂ';_ '
| 3/ AH4EIA2A | o4l o |mmmEss
92| srueanzn 827l 9 |SHEESK
33 _%ﬁmf-a& 27,500 9 - %iﬁiﬁﬁﬁﬂ
3¢ | amasEafgosa | Cso| 10 [mmma o
3% %#ﬂ#ﬁsﬁzlsé 11,@6 10 ﬁvuv_ﬂé"
: 36 '» “H44r3528H - 48,31\3‘ 2 ‘ mgga-;;ggm
37 -' 46| 10 [HUyk




